
The 2 Times Table

1. Use the number pieces to complete the 

calculation.

4. Laura is putting her socks into pairs. She 

has 16 socks altogether. 

Is Laura correct? Use the bar model to 

explain your answer.

2. Match each calculation to the correct 

answer.

5. Pens come in packs of 2. Jack buys 7 

packs.

Explain why Jack cannot be right.

3. Fill in the missing numbers. 6. Use the cards below to complete the 

statement. 

Find 3 possible answers.

I have 8 pairs of socks.
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A. 6  x   2   16

B. 8  x  2  6

C. 12  x  2   12

D. 3  x  2   24
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I have 15 pens altogether.
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The 2 Times Table

1. 5 x 2 = 10

2. A. 12; B. 16; C. 24; D. 6

3. A. 12; B. 18; 22

4. Laura is correct, she has 8 pairs of socks; 8 x 2 = 16.

5. Jack cannot be right because 15 is not in the 2 times table; 7 x 2 = 14.

6. Various answers, for example: 6 x 2 = 12; 7 x 2 = 14; 8 x 2 = 16

classroomsecrets.co.uk

© Classroom Secrets Limited 2021

The 2 Times Table  ANSWERS


